Monday Tuesday Wednesday Thursday Friday
400 x 12 = 4800 70x 12 = 840 600 x 12 = 7200 90x 12 = 1080 800 x 12 = 9600
4x12=48 7x12=284 6x12=72 9x12= 108 8x12= 96
40x 12 =480 700 x 12 = 8400 60x 12 = 720 900x 12 = 10,800 80x12 = 960

Calculate 7.2 x 100 =
720

Calculate 702 +10 =
70.2

product of 300 and 12
3600

What is the value of the
2 in this number?
329,864 20,000

Round 22,583 to the
nearest thousand.
23,000

Write in Numerals
MDXX111
1523

Calculate 408 x 10 =
4080

Calculate 480 +1000 =
0.48

product of 500 and 12
6000

What is the value of the
9 in this number?
329,864 9000

Round 22,583 to the

nearest ten.
22,580

Write in Numerals

MDXCIX
1599

Calculate 9.6 x 10 =
96

Calculate 9.06 +10 =
0.906

product of 11 and 12
132

What is the value of the
8 in this number?
329,864 800

Round 22,583 to the

nearest hundred.
22,600

Write in Numerals
MDCLXXXIV

1684

Calculate 62 x 100 =
6200

Calculate 6000 +100 =
60

product of 15 and 12
180

What is the value of the
6 in this number?
329,864 60

Round 22,583 to the

nearest ten thousand.
20,000

Write in Numerals
MDCXLIV

1644

Calculate 18 x 100 =
1800

Calculate 108 +100 =
1.08

product of 200 and 12
2400

What is the value of the
3 in this number?
329,864 300,000

Round 212,583 to the
nearest hundred
thousand.

200,000

Write in Numerals

MDCCLXVIII
1768




Calculate the perimeter

12cm

4cm
32cm

Calculate half of 70
35

Write 0.3 as a fraction
3/10

3/5+3/5=6/50r1°

Calculate the area

9cm

54cm?

Calculate double 48
96

Write 4/10 as a decimal
0.4

3/4+3/4=6/40r1%*

Calculate the perimeter

10cm

33cm
Calculate half of 35
17.5

Write 2/10 as a decimal
0.2

5/6+2/6=7/6or 1'/°

Calculate the area

10cm

6.5cm

65cm?
Calculate double 39

78

Write % as a decimal
0.25

7/10 +1/10=8/10

Calculate the perimeter

15cm

7cm

44cm
Calculate half of 58
29

Write % as a decimal
0.5

5/6 +2/6=7/6or 1V/°

— 2/9 of 81 =18 8/9 of 27 = 24
5/9 of 45 = 25 4/9 of 72 = 32 7/9 0f 54 = 42
. 7/9 of 81 =63 7/90f27 = 21 4/9 of 54 =24
3/9 of 45 =15 5/9 of 72 = 40 /
Total /15 Total /15 Total /15 Total /15 Total /15




